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	Question summary
	What will the minimum successful centralised solution look like for the project to be assessed as a success?


[bookmark: _Toc513709470]
Answer (please retain document formatting and do not exceed 2 pages unless otherwise agreed with Ofgem)
[bookmark: _GoBack]The software will be considered a success if we can reliably use it to prove the business case for QUEST: that by co-ordinating the real-time operation of currently discrete voltage control techniques we can deliver additional benefits to consumers. At minimum, it must be able to show that a centralised solution can deliver capacity release, as this is central to the business case. 
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